- Example 2

G/rgp_h the function f(x) = x? and its inverse on the same graph. State the

domain and range the function and its inverse. Is the inverse a function?

How can we restrict the domain of f(x) = x? so that its inverse is a
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inverse of a function, will also be a function.
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When the inverse of a function f(x) is itself a function, we may denote the

inverse by f~1(x). Note that this is not an exponent. f~'(x) # s

ies)
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Determine the equation of the inverse of f(x) = -x — 1.
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~, Given the function f(x) = 4x —3 determine the value of f~1(2).
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